IS
St
e

BHF LD -+ THXEEFRFEOEPRIICONT

1 $HREE - REORMAEH (HLeiR)

ES SR == .vix MY TN 145'55 ZQEH 345'55 44155 BEF‘H S
—— =] | F
1,200
. .
| B EANH] 949 929 928 924 939 | | 1000 — e - —
(3~5mk IR 'E'i?%( 800 ——
i Y i Ju 600
BB Fik 1,070 983 923 854 834 400
200
A B 1,524 1,493 1, 490 1,756 1,783 0
2(77—;...;\52___"5 FILH 148 2 &6 34£H 4B 54H
L R (7ER) (28E) (29 ) (30E5) (1EE)
rERE) i 1,696 1,703 1,739 1,692 1,705
TR ’ ’ ’ ’ ’ ——FIAREY GtE)  —e—FIAREY ()
B 181 181 180 135 136
e F
5 B i 121 122 115 133 141 2 53R B~SBEBEFMA)
(0~25% 2 1,900
frH ”‘“‘E) ] 761 781 780 976 971 1,800 —e
12 Fl ﬁﬁ 1,700 o - —C— .
IR R E 1,600
Fik 923 887 878 882 927| | 1500 ~— .
1,400
1,300
148 258 346 4458 545
275 E) (28 ) (29 ) (30 E) (315 E)
—o—F|BIREH (5tH) —o—F|BIREH (EE)
35RE (Hb. oREBRBANA) 3FRE (5B, 1 2R BIRBEITE)
200 1,200
® ® \ 1,000
150 ’ O ——o- .// —3
. ] 800 ~— — o R
100 600
50 400
200
0 0
1£8 2 FH 3FH 4%F8 5FH 18 2FH 3FH 4 F8 5FH
QIEE) (284 ) (294 ) (30 E) (G1EE) (274 ) (284 ) (294 ) (304 ) G1EE)
—o—TFBIREH (GHE) —o—FBIREH (EfH) —o— T IR EH (GHE) —o=—F|FHIREH (EH)




I+ &% - FHOXEEE

e 14EH 24 34H 44EH 54 H 1 3 = 2 —EFEAS Y EE (4 ENYIRBET
A L (QTEEFEE) | (284EFE) | (204EFE) | (304EEE) | (3L4EFE) SERFAHE SN Y BE (DHERDYREED)
500 50,000 -
- ) e — ——l)
i 354 353 352 350 353 | | 300 —_— — 20000 o —
HERREFE (k) FEFI A B e o000
FiE 320 346 388 347 354 0 0
140 2 %[ 340 A%Q 540 140 2%H 340 4EB 540
(745 %) (285 %) (295 %) (30EE) (3145%) (745 %) (284 %) (294 %) (304 %) (314 %)
L S 46, 030 45, 330 45, 255 39, 261 39, 782 e EARREN (HE)  —e—AIFREN (E) e EFIREEN (HE)  —e—E~HRREY ()
SEHERERTED Y IR E S T, 7
e ~ ° N T — v TS
e 29, 071 27,852 27, 872 30, 809 31, 425 37573 —HFE—F- i 4 FECEYIEEY
4,000 2,600
EE] 3, 246 3,237 3,231 3,025 3,049 3,000 G — 2,590
TZ7IY— PR — | - . . 2,000 2,580
B E IE/\ I e ! ‘_-__'_____-—-‘\. ’
Lor—E (3h) SE~FIARER 000 - e70
e 969 1,072 1,191 1,810 1,419 0 2,560
148 2FH 3EH 458 5FH 158 2%H8 348 485 5%EH
B Q75%) (28 ) (294 %) (30EE) B1EE) (2745 ) (284 %) (294 %) (30 %) (G1EE)
S 2, 594 2, 588 2,582 2,574 2, 591 - )
- S . —e—E~FIREH (FHE o HE~FI IR eSS —e—E~FIFRES (SHE)
THECE B HEE A~ VR B8 h
e I . . _
5 RBRBEEE 6 i 7B TR S EZE
2Fi 1,316 1, 283 1, 280 1,277 1,298 | | 2% . 40,000 o — ,
. 1,500 o S — — 30,000
RIR R EFE FEAFI R B 1,000 20,000 — o
s 1,428 1,545 1,681 1,290 1,316 5"2 10'002
148 2%8 3%H 4 % H 548 148 2%#8 3%FH 4R 548
=] 36, 864 37, 452 37, 320 32, 362 32, 361 (275E) (285 %) (295 %) BoEE) (31#E) (275%E) (285 ) (295 %) (305 ) (15E)
Ml 75 ¢ LA JE~F U B ——E~FIBREY GHE) — —e—IE~FARER (25 ——E~FIAREH GHE) — —e—IE~AIARER (24
FEiH 19,071 20, 072 20, 575 20, 535 20, 946
7 A AETIESRE 8 ILIBRESFFHMEE
S 4 4 4 4 4 |s 800
FUB BT Sl : 0 ——= - —
700
i 0 0 0 ! ik _——— 0
0 L4 A A 600
. 158 2%8 3%£H 4 %8 5%H 148 248 3£ 4EB 5E8
1Al 753 71 746 44 750 @75 (2855 (290 50) (30%5) (155) (275) (28 ) (20%5) (30%5) 1%
9 7 =il
FLIRS e A2 T RAIH 2 AL —e—EEA P (GHE) ——e=EHEAF () ——— PR (GHE) ——e—eIEREN ()
FEiH 746 746 730 670 700
) 9 BEEXESMEE 10 s — M EREZE
i 30 30 30 29 30
— N ~ 50 12,000
ESep T ik == AR E 40 /\ e 11,000 — —
30 — —)
FEiH 19 44 28 37 40 %0 « o 10,000
10 9,000
0 8,000
S 10, 988 10, 952 10, 893 10, 858 10, 941 148 2%R8 358 458 548 148 248 348 458 548
- e £ E E 3 E Q75%) (284 %) (295 %) (305E) (G1EE)
ﬁ}ﬁ%_ﬁri@%?’/\ il,ﬁ/?/\ﬁ___@ Q1FE) (28F %) (295 ) B0FE) (315 E)
Seigt 9. 928 9. 882 9. 591 9. 193 9. 200 ——FRIREN (GHE) —e=PRREH (E) —e— T (GHE) —e—TRHH (M)
S 1,632 1,597 1,595 1, 589 1,614 11 BERR RERESEREE
S 20 | H 32 2 N2 b
JhiR “%ﬁ%iﬁﬁk%% e IR E L 1,800
(ﬂ’i%ﬂa) 1,700 /‘\./‘
e 1,502 1,585 1, 700 1,647 1,750 | | 1600 o— - —
1,500 /
IR S T 300
= /: R f e =L ﬁ L= 1,300
AT O RHEMERBUE - REH 148 248 3£R 458 58
SRR B 7% E) (284 %) (2945 ) (305 ) (G1FEE)
SR7L D2 i - = S .
VAR E =2 RIEIEARTE - AT BRRENK GHE) & —e—BRREH ()




